## **Apartment in Zebbug**



#### Zebbug, Central



#### €445,000

Total Rooms: 6

Bathrooms: 2

Reference No: 240081124-215



Floor Area (m<sup>2</sup>) : **137** 

Bedrooms: 3

## **Apartment - For Sale - Zebbug**

Zebbug | Apartment: New on the market, this highly furnished and ready to move into corner apartment situated in a residential area on the outskirts of Zebbug. Consisting of a welcoming open plan (K/L/D) leading to a spacious corner terrace, three double bedrooms, main bedroom complimented with a spacious and stunning ensuite with free standing bath, main bathroom and back balcony. The property is being sold fully furnished to the highest standards and is fully air-conditioned. Complimenting this property is a washroom, and part ownership of roof. Optional interconnected 2 Car garage. Freehold.

#### **Features**

- Lift
- En Suite
- Balcony

### Rooms

- Single Bedroom : 4.38 x 2.87 m (12.57 m2)
- Double Bedroom : 4.19 x 3.05 m (12.78 m2)
- Double Bedroom : 3.73 x 4.7 m (17.53 m2)
- Bathroom Ensuite : 4.55 x 1.22 m (5.55 m2)
- Bathroom : 1.83 x 3.35 m (6.13 m2)
- Kitchen/Living/Dining : 7.81 x 7.38 m (57.64 m2)
- Open Space : 1.53 x 1.51 m (2.31 m2)
- Open Space : 4.53 x 4 m (18.12 m2)

- Ceramic Floor
- ✓ A/C

# Gallery













Ritienne Calleja RE/MAX Central - Birkirkara

M: 79881107 E: ritienne@remaxcentral.com.mt T: 21480165

**RE/MAX Central - Birkirkara** Central Real Estate LTD,Triq Dun Karm, Birkirkara, Malta